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Note : Answers may be written either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Attempt four questions in all,
selecting any two questions from each Section.
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SECTION -1
AT — |

Why w1ﬂ1 private markets undersupply pure

- public goods ? What is the free rider

problem ?

Explain the provisioning of public goods in
a general equilibrium model and show how
consumers will attain efficient consumption
of public and private goods.
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Dlstmgulsh between the ‘ability to pay
principle’ and the *benefit principle’.

Explain the different - versions of equal
sacrifice prmc:lple using suitable diagrams.
Does equal sacrifice rule necessarily imply .
a progressive taxation ?
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3. Define externalities. Distinguish between positive
and negative externalities. What possible remedial
measures could be taken to reduce negative
externalities ? In this context, dlscuss the pohcy of
using Ptgowan tax to correct the. negatlve
externality problem. - 6,6
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4. (a) Explain income and consumption as a base
of taxation under ‘ability to pay’ principle
of tax equity. 6

(b) Explain with the help of diagrams, the role
of elasticity of demand and supply in
distribution of burden of a product tax
between buyers and sellers. 6
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 SECTION-11,
ST - 1§
3. Explam ’vanous reforms made in Indlan tax
structure since 1991. Explain the significance of

fu;ther thx reforms to achieve the objectives of
efficiency and productivity. 7
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6. Cntlcally examine the patten of public
expenditure in India in terms of its,implications
on efficiency and equity. 7
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7. Do you agree with the view that introduction of
GST would help in achieving a rational tax
system in India ? Give reasons for your answer. 7
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8. Crmcally exammc the recommendatlons of
Thirteenth Finance Cormission in the context of
its implications on inter-state equity in transfers
from Union Government to State Govermnments.
Also, explain the reforms made by Thirteenth
Finance Commission 'in’providing resources for
local bodies. 7
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